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gFjp II A 
 1) 4 2) 1 3) 3 4) 2

 5) 3 6) 3 7) 3 8) 4

 9) 3 10) 2 11) 3 12) 4

 13) 4 14) 4 15) 3 16) 3

 17) 2 18) 2 19) 3 20) 3

 21) 3 22) 4 23) 2 24) 4

 25) 1 26) 4 27) 3 28) 1

 29) 2 30) 3 31) 3 32) 4

 33) 3 34) 1 35) 4 36) 3

 37) 2 38) 4 39) 2 40) 4

gFjp II A

Q 1. A. i) #oy; B     (1 Gs;sp)

 ii) fhlopj;jy; {  capu;Rtl;L vupnghUs;fspd; jfdk;

  NtW nghUj;jkhd tpil     (2 ¢ 1 = 2 Gs;sp)

 iii) mkpykio { Gtpf;Nfhsk; ntg;gKwy; { ghiytdkhjy; { XNrhd;gil rpijjy;

  NtW nghUj;jkhd tpil     (2 ¢ 1 = 2 Gs;sp)

 iv) vy;wpNdh Njhw;wg;ghL { Gtpf;Nfhsk; ntg;gKwy; (1 Gs;sp)

 

B. i) 

 #oy; kpd; cw;gj;jp #oYf;F Nerkhdjh? fhuzk;

   Kiw Nerkw;wjh?

  A mZ{epyf;fup Nerkw;wJ { ,y;iy thAf;fopTfs;

     ntg;gk; fjpu;tPry;

  B fhw;whiy {#upag;gly; NerkhdJ { Mk; thA tpisT ,y;iy

     jPu;e;J NghfhJ

    (6 Gs;sp)

 ii) tw;Wg;ngUf;F { Gtpntg;gk; { ePu;kpd;

  NtW nghUj;jkhd tpil     (2 ¢ 1 = 2 Gs;sp)

 iii) kPs;Row;rp { kPs;gad;ghL { ghtid Fiwg;G

  NtW nghUj;jkhd tpil     (1 Gs;sp)

  (15 Gs;spfs;)
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Q2.A.i) a) tsu;r;rp { Gj;Japu;g;G { nehjpak; { .... NtW     (1 Gs;sp)

  b) rf;jp gpwg;gpg;G> ntg;gfhtyp { XNkhd; cw;gj;jp { ... NtW   (1 Gs;sp)

 ii) a) ,iwr;rp : ghy; { .... NtW

  b) vs;S { Njq;fha; { <uy; { ... NtW (1 Gs;sp)

 iii) cly; tsu;r;rp (1 Gs;sp)

 iv) nrypNyhR (1 Gs;sp)

 v) a) #lhd III (1 Gs;sp)

  b) NaOH fiury;> CuSO
4(aq)

  ,uz;Lk; rup vdpd;   (1 Gs;sp) ,y;iynadpd; (00)

B.  i) jhtuf;fyk; (1 Gs;sp)

 ii) A - fU     B - mOj;jkw;w ER      (1 Gs;sp)

 iii) mq;fp xd;whdJ xU fyj;ij { gy fyq;fis nfhz;lJ.

  Kd;gpUe;j fhyj;jpypUe;Nj Gjpa mq;fp Njhd;Wk;. 

  mq;fp xd;wpd; fl;likg;gyF fyk;                                               (2 Gs;sp)

 iv) epw%u;j;jq;fs; { DNA                             (1 Gs;sp)

C.  i) mq;fp xd;wpd; clypy; kPsKbahj mjpfupg;G (1 Gs;sp)

 ii) a) tsu;r;rp khdp    (1 Gs;sp)

  b) jhtu ePl;rpf;Nfw;g fhl;b mirT    (1 Gs;sp)

  (15 Gs;spfs;)

Q3.A. i) J   (1 Gs;sp)

 ii) A , I , G  (2 Gs;sp)

 iii) F    (1 Gs;sp)

 iv) a) C
  b) K
  c) G
  d) H         (4 Gs;sp)

B.   i) gpizg;gpYs;s mZthdJ gpizg;gpYs;s Nrhb ,yj;jpud;fis ftUk; Mw;wy;  (1 Gs;sp)

 ii) Nghypq; mstpil  (2 Gs;sp)

 iii) nghUj;jkhdthW tiugpy; Fwpj;jy;   (1 Gs;sp)

C.  i) Al  (1 Gs;sp)

 ii) 3  (2 Gs;sp)

 iii) nghUj;jkhd Y}ap fl;likg;G    (1 Gs;sp) 

  (15 Gs;spfs;)

Q4.A.i) cU B (1 Gs;sp)

 ii) jpzpT  α 1{ Mu;KLfy;   {  a α 1/m     (1 Gs;sp)

 iii) cU A         (1 Gs;sp)

 iv) F α a (1 Gs;sp)

 v) 

B.  i) Xa;T - epiyapay; cuha;T tpir

  ,af;fj;jpy; - ,af;ftpay; cuha;T tpir     (2 Gs;sp)

 ii) jthspg;G    (1 Gs;sp)
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 iii) 10s - 30s (1 Gs;sp)

 iv) 1ms-2 (1 Gs;sp)

 v) ½ × (30 + 20) 10m
  250m (2 Gs;sp)

C.  i) nghUj;jkhdthW 

  Mg - epiw w - jhf;ftpir               R - nrt;td;kWjhf;ftpir    (2k; rup vdpd; 1 Gs;sp)

 ii) 2.5N       (1 Gs;sp)

  (15 Gs;spfs;)

Q5.A.i) Mzfk;> ngz;zfk;      (2 Gs;sp)

 ii) C           (1 Gs;sp)

 iii) kfue;jr; Nru;f;if   (1 Gs;sp)

 iv) D - kfue;jkzp {Mz;fU { tpe;J   (01 Gs;sp)

  E - Efk;   (1 Gs;sp)

 v) jiuNky;   (1 Gs;sp)

 vi) a) thio { NtW     (1 Gs;sp)

  b) ,Q;rp    (1 Gs;sp)

B. i) fw;wy; ,yF { Qhgfg;gLj;jy; ,yF { NtW    (1 Gs;sp)

 ii)    A - Mf;fpah B  - ,A+fupah

  C - mdpkhypah D  - Ks;se;jz;bypfs; (4 Gs;sp)

 iii) eplhwpah> mdyplh> Mj;jpNuhNghlh> nkhy];fh> vf;ifNdhNlNkw;wh       (VjhtJ 4w;F 4 × ½ = 2 Gs;sp)

 iv) gpshd;Nu> Gnuhb];uh    (2 Gs;sp)

 v) khwh cly; ntg;gepiy> 4 miw ,jak;    (2 Gs;sp) 

  (15 Gs;spfs;)

Q6.A.i) E    (1 Gs;sp)

 ii) 2> 8    (1 Gs;sp)

 iii) E, F   (2 Gs;sp)

 iv) C  (1 Gs;sp)

 v) C - td;dkpyk; E - td;%yk; F- nkd;%yk; (3 Gs;sp)

B.  Y vDk;  %yf mZ xd;wpd; jpzpT 3.2 ¢ 10-24g MFk;. mZj;jpzptyfpd; ngWkhdk; 1.6 ¢ 10-24g vd;f.

 i) 12

6
C rkjhdpapd; 

1
2

 gq;F    (2 Gs;sp)

 ii) 2      (2 Gs;sp)

 iii) 2gmol-1    (2 Gs;sp)

 iv) n = 
20g

2gmol-1   = 10mol      (2 Gs;sp)

C.  NH
3 

Gs;spf; fl;likg;G      (2 Gs;sp)

 ii) gris cw;gj;jp> NH
4 
OH

 
cw;gj;jp     (2 Gs;sp) 

  (20 Gs;spfs;)

Q7.A.i) jputj;jpd; %yk;   (1 Gs;sp)

 ii) 10Nm-2    (2 Gs;sp)

 iii) 10Nm-2 = 
x

100m2   

            x = 1000N (2 Gs;sp)

 iv) 1000N x 1m = 1000J    (2 Gs;sp)



- 4 -

 v) 
1000

4
 = 250W    (2 Gs;sp)

 vi)  20
100

 x 100 = 50
100

 x F
  
           F = 40N       (2 Gs;sp)

 

B.  i) X - Nthy;w;Wkhdp Y -  mk;gpau; khdp (2 Gs;sp)

 ii) khWk; jilap kpd;Ndhl;lj;jpd; gUkid khw;wy;      (2 Gs;sp)

 iii) cau; jilj;jpwd; (1 Gs;sp)

 iv) V = IR

 R = 
01
0.1  = 10Ω     (2 Gs;sp)

 v) 1400Ω ± 10%  (2 Gs;sp)  

  (20 Gs;spfs;)

Q8.A.i)  TT , tt        (2 Gs;sp)

 ii)  mad; kfue;jr; Nru;f;if      (1 Gs;sp)

 iii)  fUf;fl;ly;    (1 Gs;sp)

 iv) a)  Tt (1 Gs;sp)

  b) ahTk; cauk; { nel;il       (1 Gs;sp)

 v) 1 : 2 : 1       (2 Gs;sp)

 vi) 

  NtW nghUj;jkhdthW    (2 Gs;sp)

B.  i) kpd; flj;jy; { ntg;gf;flj;jy; { thl;Lkpay;G { ePl;lj;jF ,ay;G {    NtW    (2 Gs;sp)

 ii)  cNyhfq;fs; ePu; { mkpyj;Jld; jhf;fk; { ,lg;ngau;r;rpj; jhf;fk;.... nghWj;jkhd NtW   (2 Gs;sp)

 iii) a) Na - kpd;gFg;G    (1 Gs;sp)

  b)  Fe  - CO ,dhy; jho;j;jy;    (1 Gs;sp)

 iv) 2Na
(s)

 + Cl
2(g)

  2NaCl
(s)

  (1 Gs;sp)

 v)  cUfpa jputepiy> fiury; epiy    (2 Gs;sp)

 vi)  mirAk; mad;fs; fhzg;gly;.        (1 Gs;sp)  

  (20 Gs;spfs;)

Q9.A.i) C, H, O, N    (1 Gs;sp)

 ii) epA+f;fpspf;fkpyk;    (1 Gs;sp)

 iii) X - ngh];Ngw;Wf; $l;lk; Z - iejurd; cg;G %yk; (2 Gs;sp)

 iv) 2 : 1  (1 Gs;sp)

 v) xU rf;fiul;L> ,U rf;fiul;L> gy; rf;fiul;L   vjhtJ 2w;F   (2 Gs;sp)

B.  i) A - ,ioAUg;gpupT                                          B - xLf;fw;gpupT2k; rup vdpd  (1 Gs;sp)

 ii) A  B 
  epw%u;j;j vz;zpf;if khwhJ epw%u;j;j vz;zpf;if khwhJ

  khwy; Njhd;whJ khwy; Njhw;Wk;
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  ,Wjpapy; 2 kfl; fyk; ,Wjpapy; 4 kfl; fyk;  (2 Gs;sp)

 iii) $u;g;gpw;F top tFj;jy; { Gzupfspd; cUthf;fk; { re;jjpfspy; epw%u;j;j vz;zpf;if khwhJ Ngzy; (1 

Gs;sp)

C.  i) epA+l;ldpd; III k; tpjp (1 Gs;sp)

 ii) ePu; { tspj;jhiu fPo;Nehf;fp Vw;gLj;Jk; jhf;ftpir = tspkz;ly tspapdhy; Vw;gLj;jg;gLk; kWjhf;ftpir  

  (2 Gs;sp)

 iii)  (1 Gs;sp)

 iv) a) F x 8 = 2 x 4000N
         F = 100N (2Gs;sp)

  b) vj;jdg;Gaj;ij $l;Ljy; { Rikg;Gaj;ij Fiwj;jy; (1Gs;sp)

 v) F3 = F1 + F2    (2 Gs;sp)

  (20 Gs;spfs;)
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Part I
Instructions.
 Answer All question.
 Select most suitable answer from the options given below.
01) What is the most abundant inorganic compound found in all organisms
 1) carbohydrate  2) Lipid 3) Protein 4) water

02) Of which following phylums shows very close relationship with chrodata?
 1) Echinodermata 2) Arthropoda 3) Mollasca 4) Annelida

03)	 Of	which	following	deficiency	of	vitamins	causes	the	delays	blood	clotting
 1) Vitamin A 2) Vitamin B 3) Vitamin D 4) Vitamin E

04) Of which following organelles does not surround by a membrane.
 1) Mitochondria   2) Ribosome 
 3) Chloroplast   4) Golgi apparatus

05) Find the momentum in the standard unit of object weighs 750g when it moves with a velocity of 10ms-1?
 1) 7500 2) 750 3) 75 4) 1

75

06) What will be your observation in the setup given here after a 
short while?

 1) Colour water column goes down 
 2) No changes in colour water column.
 3) Colour water column rises up. 
 4) Nothing to say.

07) Of which following features cannot be seen in echinodermates.
 1) Penta radial symmetry  2) Tube feet
 3) Jointed legs   4) Water vascular system

08) The lattice given here is
 1) Graphite   2) Diamond 
 3) Silicon   4) Sodium chloride

09) How does it call the bonds between the water molecules?
 1) Covalent bond 2) Ionic bond 3) Intermolecular bond 4) Triple bond

Science Duration - 1.00 hrGrade - 10
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10)	 Of	which	following	statements	is	related	to	the	newton’s	first	law
 1) Action force and reaction force are equal.
 2) The bodies at rest until unbalanced force are equal.
 3) When mass of the object increases the acceleration also increases.
 4) When the magnitude of force increases the acceleration also increases

11) The organisms are used in the production of agar?
 1) Protozoan 2) Fungus 3) Algae 4) Archaea

12) Of which following is a chemical combination reaction.
 1) 2Ag2O ∆  4 Ag + O2  2) Zn + CuSO4 ∆  ZnSO4 + Cu  

 3) CaCl2 + Na2CO3  CaCO3 + 2NaCl 4) 2Mg + O2  2MgO

13) of which following animals is warm blooded
	 1)	Goat,	crocatile	 2)	 cat,	fish	 3)	 Crane,	spider	 4)	 bear,	ostrich

14) The correct comparison of physical changes and the chemical changes
 1) Chemical property does not change during the chemical changes.
 2) All the chemical changes are reversible.
 3) Reaction of sodium withwater is a physical change
 4) New products are formed in a chemical change.

15) What is the couple of force  
 1) 320Nm   2) 640Nm 
 3) 6.4Nm   4) 40Nm

16) What is correct binomial nomonclature of modern man?
 1) HOMO SAPIENS 2) Homo Sapiens 3) Homo Sapiens 4) Homo sapiens

17) Of which plants shows hercogamy?
 1) Passion fruit 2) Jasmine 3) Corn 4) Coconut

18) A 10N of force is acted on an object as shown in the diagram. The object accelerates with a 20N of 
resultant force in the opposite direction. What is the magnitude of force X?

 1) 10N 2) 30N 
X 10N 3) 20N 4) 50N

19) How does the substances call which increase the speed of chemical reactions?
 1) Reactants 2) Products 
 3) Catalysts 4) Inhibitors

20) Name the process occurs at the part D of female reproductive 
system shown in the diagram.

 1) Oogenesis (producing Ovum) 2) Embryonic development
 3) Fertilizition           4) Parturition (child birth)
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21) In which reaction Oxygen is not released?
 1) Decomposition of Potassium permangonate.
 2) Decomposition of hydrogenperoxide
 3) Decomposition of Potassium Cabonate 
 4) Decomposition of Potassium nitrate

22) Of which following substances has the highest pH value?
 1) Salphuric acid 2) Liquid ammonia 3) Vinegar 4) Caustic soda

23) The underground stem given in the diagram is?
 1) Come 2) Blub 
 3) Stem tuber 4) Rhizome

24) Consider the hereditary diseases given below.
  A - Albinism
  B - Haemophilia
  C - Thalassemia
  D - Red - Green colour blindness
 The sex linked hereditary diseases are.
 1) A and B   2) A and C 
 3) A, C and D   4) B and D

25) From which holes A, B, C and D the water stream leave the bottle with a higher speed given in the 
diagram?

 1) A 2) B 3) C 4) D

26) In which gas sample; the large amount of molecules are found. (N - 14, H - 1, C- 12, ) - 16)
 1) 34g of ammonia   2) 22g of Carbondioxide 
 3) 28g of Nitrogen   4) 48g of Methane

27) The distance between A and B in	the	figure	is	50cm.	What	is	
the distance between BC. All the loads are identical.

 1) 25cm 2) 10cm 
 3) 100cm 4) 40cm

28) What will be your observation in the set up shown in the 
diagram after a short while.

	 1)	The	purple	colour	becomes	colourless	first	in	B.
	 2)	The	purple	colour	becomes	colourless	first	in	A.
 3) The purple colour does not change both in A and B.
 4) The purple colour becomes colourless as same in both

29) Of which graphs shows the displacement of a vehicle after applid the brake and comes to rest uniformly.
 

 1)  2)  3)                             4) 

A CB

M M

M

Acidified
KMnO4(qg)

acidified
KMnO4(qg)

A B

Iron nails
30

0

80
0
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30) An object moves with an accleration in a direction shown in the diagram 
along a smooth surface F1 , F2 , F3 , F4  are acting on it as described. The correct 
relationship of forces when the object moves in the direction of accleration?

 1) F4 > F2   2) F4 + F2 = F1 + F3 
 3) F1 > F2   4) F4 < F3

31) How does it call the technology that the recombination of DNA by removing or combining DNA fragments.
 1) Record the DNA data  2) Maintain the genetic featares
 3) Genetic engineering   4) Conservation of inheritance.

32) Which cellular structare has the same number of chromosomes as in sperm cell of man?
 1) Zygote 2) Embyo 3) Foetus 4) Ovum

33) Consider the statements about electrostatic charges
  A -  Things are getting positively charged by removing electrons from the surface atoms.
  B -  Things are getting negatively charged by gaining electrons
  C -  The charges stored in objects are known electrostatic charges.
 The correct statements is / are?
 1) A and B 2) B and C 3) A, B and C 4) C only

 Answer the question 34 and 35 using the information given below.
 The amount of gas collected from two chemical reactions in equal time intervals given in the table.
 Time (Mins) 1 2 3 4 5 6 7 8 9 10
 The mass    Reaction A 2.1 2.9 3.5 3.9 4.2 4.4 4.5 4.7 4.8 4.8
 of gas in g   Reaction B 3.1 4.0 4.4 4.6 4.7 4.8 4.8 4.8 4.8 4.8

34) The time taken to complete the reaction A is?
 1) 4.0 min 2) 4.8 min 3) 6.0 min 4) 4.4 min

35) The same mass of reactants are used in those reactions as small pieces and as powder seperately the 
correct statement?

 1) Pieces of reactants are used in the reaction A 2) Pieces of reactants are used in the reaction B. 
 3) Powdery reactants are used in the reaction A.  4) Powdery reactants are used in the reaction B.

36) Select the suitable option according to your observation 
from	the	given	figures

 1) Fg	=	Fb	in	both	figures	A and B. 
 2) Fg > Fb in	both	figures	A and B.
 3) Fb	=	Fg	in	figure	A	while	Fg	>	Fb in	figure	B. 
 4) Fb	>	Fg	in	figure	A	while	Fg	=	Fb in	figure	B.

37) A liquid density of δ	is	filled	in	the	U	tube.	A	balloon	is	fixed	on	one	arm	of	the	U	
tube?	what	is	the	pressure	exerted	by	the	air	fillrd	in	balloon	(Atmospheric	pressure	
= π, gravitational acceleration = g)

 1) h δ g  
2) π + h δ g 

 3) H δ g 
 4) (H - h) δ g

water

Fb

Fg

Fb

Fg

floating

object

figure A figure B

Sinking

object

h

H

liquid



- 5 -

38)	 Of	which	electric	sources	of	light	is	more	efficient	while	power	of	them	are	equal,
 1) Normal bulp 2) CFL 3) Fluorecent bulp 4) LED

39) Which of the following technology is used to remove the waste matter from the combustion of crude 
oil at present?

 1) Waste management technology 2) Genetical engineering technology
 3) Incombustible particles technology 4) Environment conservation technology

40) The reason for banning saftdrints and fast food items in schools now?
	 1)	Inflation	of	srilankan	rupees
 2) unemployed parents 
 3) lack of enthusiasm in students 
 4) Increasing the number of victims of non communicable diseases 

(40 × 1 = 40 Marks)
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Instructions.
 This paper contains two sections part II A and Part II B.
 Answer all four questions in part II A on the paper itself where the spaces are provided.
 Answer any three questions in part II B in your answer scripts.
 Tie up the Part II A and Part II B together and submit to the invigilator.

Part II A  - Structured Essay

Q 1. Environment A Environment B

A. It's our duty to protect our nature and our water resources and also to behave ecofriendly without 
using plastic materials is very essential. The environments of ecofriendly and not an ecofriendly are 
shown in the diagram.

 i) Of which above environment is an ecofriendly environment?

  ..................................................................................................................................... (1 Marks)
 ii) Write two activities which cause an adverse environment?

  ..................................................................................................................................... (2 Marks)
 iii) Write two effect caused by the above said activities?

  ..................................................................................................................................... (2 Marks)
 iv) What is the reason for climatic changes and lack of rainfall.

  ..................................................................................................................................... (1 Marks)
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B. i) Complate the table given below about producing electricity in this environment.
    environment Way of producing Whether ecofriendly Reason
  electricity or not 

  A

  B
    (6 Marks)
 ii) State two ways of producing electricity which do not pollute the environment rather than the 

above mentioned ways of producing elecricity.

  ..................................................................................................................................... (2 Marks)
 iii) Write a method to minimize the effects of using plastic materials.

  ..................................................................................................................................... (1 Marks)
  (15 Marks)

Q2.A.Nutritional compounds are very essential for growth and producing energy in all living things.
	 i)	 What	are	the	significances	of	the	following	compounds?

  a) Protein :.........................................................................................................

  b) Lipid  :......................................................................................................... (2 Marks)
 ii) Give examples for the type of compounds in question (i)?

  a) Protein :.........................................................................................................

  b) Lipid  :......................................................................................................... (1 Marks)
 iii) What is the reson for adding protein to the children's food?

  ..................................................................................................................................... (1 Marks)
 iv) Which polysaccharides do not digest in the human digestive system.

  ..................................................................................................................................... (1 Marks)
 v) The following chemicals are taken to conduct experiments on food by grade 10 students.

 
  a) Of which above chemical substances is red in colour?

   ................................................................................................................................ (1 Marks)
  b) What are the chemical substances to be taken to the test for proteins?

   ................................................................................................................................ (1 Marks)

NaOH

Solution

- - -
- - -
- - -
- - -
- - -
- - -
- - -

CuSO
4

Solution

- - -
- - -
- - -
- - -
- - -
- - -
- - -

Iodine

solution

- - -
- - -
- - -
- - -
- - -
- - -
- - -

Benedicts

solution

- - -
- - -
- - -
- - -
- - -
- - -
- - - sudan III

- - -
- - -
- - -
- - -
- - -
- - -
- - -
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B.  i) Identify the structure given below?

  ......................................................................    (1 Marks)
 ii) A, B Label the organells A and B 

 
  A :..........................................................    

  B  :..........................................................            (1 Marks)
 iii) Write two contents of the cell theory.

  ..................................................................................................................................... 

  ..................................................................................................................................... (2 Marks)
 iv) In which part of the nucleus transfer inherited characters from generation to generation

  ..................................................................................................................................... (1 Marks)

C.  Growth is one of the characteristics of living organisms.
 i) What is meant by growth.

  ........................................................................................   (1 Marks)
 ii) The equipment for measuring growth of a plant is given below.
  a) What is the name of this equipment?

  ........................................................................................   (1 Marks)
  b) How growth of a plant is measured

   .................................................................................     (1 Marks)
  (15 Marks)

Q3.A. Classifying elements as a periodic table make easier the study of elements. Part of periodic table is 
given below. The symbols of elements are not true.

 i) Write the element which belongs to group III and the period 3? 

  ............................................................................. (1 Marks)
 ii) Write the elements of valency 1?

  ..................................................................................................................................... (2 Marks)
 iii) Which is a mono atomic gas ?

  ..................................................................................................................................... (1 Marks)
 iv) Write the suitable elements for the following discriptions.
  a) Used as semiconductor substance. (             )
  b) To cut glasses (             )
  c) Used in the production of bleaching powder. (             )
  d) Supporter of combustion. (             )
    (4 Marks)

K
J
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B.  The graph given below shows the pattern of electronegativity of eight consecutive elements of second 
and third periods of periodic table.

 i) What is meant by electronegativity.? 

  ............................................................................ (1 Marks)
 ii) How does it call the scale which is used to measure 

electronegativity?

  ............................................................................ (1 Marks)
 iii) Which element has the valency of 4? (1 Marks)

C.  The octet of some elements of covalent compounds do not complete. 
 i) Of which atom of AlCl3 does not complete its octet of electrons in its valence shell?

  ..................................................................................................................................... (1 Marks)
 ii) What is the number of bond pair electrons in this molecule

  ..................................................................................................................................... (2 Marks)
 iii) Draw the lewis structure of this compound.

  ..................................................................................................................................... (1 Marks)
  (15 Marksfs;)

Q4.A.The experiment models given below were designed in relation to the newton's second law. The trolleys 
A and B are identical and equal have masses, The boxes m and M have different masses. (m < M)

 
 i) Of which trolleys moves with more acceleration when equal unbalanced two forces F are applied 

on the trolleys A and B.?

  ..................................................................................................................................... (1 Marks)
 ii) What will be your conclusion from the above observation?

  ..................................................................................................................................... (1 Marks)
 iii) Of which trolleys moves with more acceleration when equal two masses placed on trolleys and 

pulled by the forces 2F and F respectively?

  ..................................................................................................................................... (1 Marks)
 iv) Give reason for your above observation in question (iii)?

  ..................................................................................................................................... (1 Marks)
 v) Find the acceleration of the trolley B if the mass of the box is 5Kg and the force applied is 10N?

M

Electro negativity

Atomic
number

N

O

P

Q

R
S

T

M F

Box

figure A

Trolley
m

Box

figure B

F
Trolley
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B.  The velocity - time graph of the box and trolley when they move in a 
linear motion is shown below.

 i) Write down the frictional forces act in this linear motion when the 
trolley moves and at rest?

  ........................................................................................... (2 Marks)
 ii) What change can be done on the wheels to move without slipering in 

a straight line?

  ..................................................................................................................................... (1 Marks)
 iii) Write down the time interval where the trolley moves when the result ant force become zero

  ..................................................................................................................................... (1 Marks)
 iv) Find the acceleration of the trolley?

  ..................................................................................................................................... (1 Marks)
 v) Find the displacement of the trolley?

  ..................................................................................................................................... (2 Marks)

C.  i) Mark the forces act on the box where the system remains at rest 

  .............................................................................................. (1 Marks)
 ii) The weight of the box is 10N. Find the normal reaction exerted 
  by one wheel

  ..................................................................................................................................... (1 Marks)
  (15 Marks)

0 time (s)

velocity  (ms )
-1

10

10 30

M



- 6 -

Part II-B
• Answer any three(3) questions
Q5.A.The life cycle of a dicot plant is shown in the 

diagram.  

	 i)	 What	are	the	main	parts	of	flower?																										(2	Marks)
 ii) Which letter denotes the pollen grain?                     (1 Marks)
 iii) How does it call the process of depositing matured pollen of 

a	flower	on	the	stigma	of	the	flower	of	same	species?		
                                                                             (1 Marks)
 iv) Fill the cages

   
E Embryo

MitosisD

Ovum  (2 Marks)

 v) which type of germination occurs in the above plant (1 Marks)
 vi) Give example for the asexual method of reproduction given below.
  a) By suckers  
  b) By rhzome   (2 Marks)
B.  Organisms

B

C

D ____________

Bacteria

Protista

Verte brates

Fungi Plantae

A

	 A	method	of	classification of organisms given above.

 i) Write advantage of classifying organisms given above. (1 Marks)

 ii) Name A, B, C and D. (4 Marks)

 iii) Write down the phyla belong to D. (2 Marks)

 iv) Write two kingdoms which contain photosynthetic organisms. (1 Marks)

 v) Write two features common for ares and mammals, (2 Marks)

(20 Marksfs;)

Q6.A.The	 first	 ionization	 energy	 of	 six	 consecutive	 elements	 belong	 to	 second	 and	 third	 period	 given	

below. The symbols of the elements are not true symbols.

	 i)	 Write	the	English	letter	of	the	element	which	has	the	least	first	ionization	energy	given	in	the	

graph.   (1 Marks)

 ii) Element	D	is	a	noble	gas.	Write	the	electronic	configuration	of	D?  (1 Marks)

 iii) Write down the metalic elements. (2 Marks)

 iv) Of which elements has the highest electronegativity? (1 Marks)

 v) Give the acidic and basic nature of oxides of the elements C, Eand F? (3 Marks)
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B.  Mass of an atom of element Y is 3.2 x 10-24g. The atomic mass unit is 1.6 x 10-24g.
 i) What is meant by atomic mass unit. (2 Marks)
 ii) Find the relative atomic mass of  Y? (2 Marks)
 iii) What is the molar mass of Y? (2 Marks)
 iv) 20g	of	Y	was	filled	in	a	container.	Find	the	number	of	moles	of	Y?	 (2	Marks)

C.  Amonia gas is formed by the combination of Nitrogend and hydrogen
 i) Draw the Lewis dot diagram of ammonia (2 Marks)
 ii) Write two uses of ammonia gas (2 Marks) 

  (20 Marksfs;)

Q7.A. A hydraulic lift is shown inthe diagram. Load arm can be lifted by applying force on effort arm.

 i) By which method force is transmited in this equipment. (1 Marks)
 ii) The cross sectional area of small piston is 10m2 and a 100N force is acting on it. Find the pressure 

exerted by the small piston? (2 Marks)
 iii) Find the force act on the large piston if the cross sectional area of the large piston is 100m2 ?
    (2 Marks)
 iv) The load was lifted by 1m when a force applied on the large piston. Find the work done by the 

machine. (2 Marks)
 v) The time taken to lift up the load is 4s. What is the power of the machine. (2 Marks)
 vi) ABC  AB = 20cm  BC = 30cm? (2 Marks)
 
B.  The sisten given here has constructed to investigate the ohms law
 i) Name the equipments X and Y and give their 2 uses. 

  X :.................................................................... 

  Y  :.................................................................... (2 Marks)
 ii) What is Z and its use? (2 Marks)
 iii) Which property of nichrome is used for this purpose? (1 Marks)
 iv) The reading of the equipments given in the table in their standard unit

   Reading of X  0.1  0.2  0.3

   Reading of Y  01    2    3

  Find the resistance of the nichrome coil. (2 Marks)
 v) Find the range of the true value of resistor given below,  (2 Marks)

  (20 Marks)

fulcrum

effort

small

piston

large

piston

Oil

C B
A
1m{

load

X

Y nichrome

6V Z

Colour bond Value
A Brown 01
B Yellow 04
C Red 02
D Silver ± 10%A    B    C    D
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Q8.A. Mendel's monohybrid cross of a pea plant is given below.

 i) Write the genotype of parents? (2 Marks))
 ii) State whether the self pollination or cross pollination happens here? (1 Marks)
 iii) How does it call the process A in which the fusion of two gametes taking place? (1 Marks)
 iv) Complete the following details of the F1 generation
  a) Genotype (1 Marks)
  b) Phenotype (1 Marks)
 v) Write the ratio of the genotype of F2 generation? (2 Marks)
	 vi)	 Briefly	explain	the	sex	determination	of	man?	 (2	Marks)

B.  A part of activity series of metals given below. Na
Mg
Fe
Sn
Pb
Cu
Au

 i) Write down two physical properties of metals.    (2 Marks)
 ii) Wrote two features of metals are considered when arranging the activity series of meta

ls,                                                                            (2 Marks)
 iii) How the following metals are extracted from their ores.

  a) Na :.................................................................... (1 Marks) 

  b)  Fe  :.................................................................... (1 Marks)
 iv) Sodium react with chlorine and form sodiumchloride. Give the chemical equation for the above 

reaction? (1 Marks)
 v) Of which states of ionic compounds conduct eletricity solid state or fused liquid state or as 

solution. Write seperately. (2 Marks)
 vi) What is the reason for conducting electricity of some states of ionic compounds. (1 Marks)
  (20 Marks)
09) A. The following setup has constructed to investigate the electric conductivity of different solutions

 The solutions R,S and T are tested seperetely by dipping the graphite electrodes afte closing switch. 
the following observations have obtained.

  solution  observation
  R   Bulb glown
  S   Bulb did not glow
  T   Bulb glown

F1 generation

process A

pure brid

tall

pure brid

short

gametes

parent

R S T
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 1. Write seperately the ionic compounds and covalent compounds. (3mark)
 2. What is the reason for conductiny and not conducting electricity in the above experiments.   

        (2mark) 
 3. What is the reason for conducting electricity of carbon rods as they are non metals. (1mark)

 B. The given setup are arranged for collecting gases.

 1. Write down the above methocts of collecting gas by A,B and C  (3mark)
 2. Of which above method is suitabe  for collect the carbondioxide gas. (1mark)
 3. Give one use of hydrogen gas.    (1mark)
C.  A model of water rocket is given below.

	 i)	 Of	which	laws	of	newton	is	related	with	the	flying	of	water	rocket?	 (1	Marks)
	 ii)	 Briefky	explain	the	flying	of	water	rocket	when	releasing	out	the	compressed	air	with	water?	 	

  (2 Marks)
 iii) A beam of a check point is shown in the diagram.
  a) What is the force applid on the string to pull down the beam? (2Marks)
  b) State a change could be made to pull down the beam by applying a smaller force. (2Marks)

 iv) Three forces acted on a uniform rod is shown in the diagram. Write two conditions must be 
satisfied	to	the	equillibrium	of	the	three	forces.	 	(2	Marks)

    (20 Marks)

plastic

bottle

water

valve

40kg

3m

2m

string

A B C


